
 
 

IBPS PO Mock Test I 
Directions (1-3): Study the following information to answer the given questions: 
In a certain code language ‘always to be right’ is written as ‘4 9 3 2’, ‘right on know just’ is written as ‘9 
7 6 5’, ‘become to terms’ is written as ‘1 3 8’, ‘terms with just’ is written as ‘0 1 6’ and ‘always on’ is 
written as ‘7 4’. 
 
Q 1. Which of the following is the code for ‘become’? 

A. 0 
B. 8 
C. 1 
D. 3 
E. Either 1 or 8 

Answer: B 
 
Q 2. Which of the following represents, ‘always be right terms’ ? 

A. 8 4 1 3 
B. 2 4 1 9 
C. 4 3 8 9  
D. 1 2 5 0 
E. 9 0 4 2 

Answer: B 
 
Q 3. Which of the following can be coded as ‘8 6 3 1 5’ ? 

A. to be with just terms 
B. right to become with terms 
C. always know to be just 
D. be right know on terms 
E. know become to just terms 

Answer: E 
 
Directions (4-6): Study the following information and answer the given questions. 
Seven seminars were held in Delhi, Chennai, Bengaluru, Pune, Lucknow, Indore, Agra. The seminar 
was conducted for one week, starting from Monday and ending on Sunday. The seminar is to be 
conducted for Marketing, Finance, HR, Real Estate, Hospitality, Management, and Banking.  
 
Seminar on Hospitality was held in Bengaluru on Friday. Only one seminar was held between the 
seminar on Hospitality and Finance. Seminar on Management was held immediately after HR but 
immediately before Banking. Seminar on Management was not held in Indore. The seminar held on 
Monday was held in Delhi. Only one seminar was held between the seminar on Banking and the 

 

 



 
 
seminar held in Agra. The seminar on HR was not held in Agra. Seminar in Pune was held immediately 
before the seminar in Indore. Seminar on Real Estate was held on Monday. Seminar in Chennai was 
not held after the seminar in Agra. 
 
Q 4. If Delhi is related to Pune, then which city is related to Bengaluru? 

A. Lucknow 
B. Agra 
C. Chennai 
D. Indore 
E. None of the above 

Answer: A 
 
Q 5. How many seminars were held between the seminar on Marketing and Hospitality? 

A. 5 
B. 3 
C. 0 
D. 1 
E. 2 

Answer: B 
 
Q 6. Which of the given combination is correct as per the given arrangement? 

A. Saturday-Hospitality-Agra 
B. Monday-Marketing-Delhi 
C. Sunday-HR-Delhi 
D. Thursday-Banking-Pune 
E. Friday-Marketing-Bengaluru 

Answer: B 
 
Q 7. Statement: X≥Y=Z; Y<Q≤P 
        Conclusion: 1. Q>X 
                            2. P>C 

A. If only conclusion 1 follows 
B. If only conclusion 2 follows 
C. If both 1 and 2 follow 
D. If neither 1 nor 2 follows 
E. If either 1 or 2 follows 

Answer: B 
 
Q 8. In a five-letter meaningful English word, there are two letters between S and C. E is not placed 
immediately next to S. There is only one letter between E and A. E is towards the right of A. E is not 
immediately next to P. 

 

 



 
 
Which of the following is correct with respect to the word thus formed? 

A. E is at one of the extreme ends of the word 
B. P is not placed immediately next to A 
C. There are two letters between A and E in the word thus formed. 
D. P is placed second to the right of E 
E. None of the above 

Answer: A 
 
Q 9. Read the directions carefully and answer the question: 

● A×B means ‘B is the mother of A’ 
● A+B means ‘A is the brother of B’ 
● A-B means ‘A is the sister of B’ 
● A÷B means ‘B is the father of A’ 

 Which of the following definitely means R is grandson of K. 
A. R×T÷K 
B.  M+R×T÷K 
C. M-R×T÷K 
D. Cannot Be Determined 
E. None of the above 

Answer: E 
 
Q 10. Study the following arrangement carefully and answer the question: 
          Q 4 T M 7 W % J 9 5 I # 1 C B 2 Z A 3 D $ 6 E N F 8 U H & 
How many such vowels are there in the arrangement, each of which is immediately preceded by a 
number and followed by a consonant? 

A. One 
B. Two 
C. Three 
D. Four 
E. None 

Answer:  B 
 
Q 11. In the questions given below, there are two statements, each statement consists of a black. You 
have to choose the correct option which provides the correct set of words that fits the blanks in both the 
statements appropriately and in the same order making them meaningful and grammatically correct. 
Statement 1: There are some questions about the applicant’s mental ______. 
Statement 2: Test the platform for ______ before using it. 

A. Keenness 
B. Stability 
C. Sharpness 
D. Durability 

 

 



 
 

E. Strenght 
Answer: B 
 
Directions (12-13): Rearrange the following five sentences in proper order and then answer the given 
questions: 

(a) At the end of the last century we had lost 3 out of the 8 species of tigers. 
(b) When it comes to the number of tigers though, I think it is too small a number to represent a 

species of animal. 
(c) Besides, the small number, we are steadily losing a few species of animals as well. 
(d) Normally, I would groan and grumble on seeing this figure of 1411 on my shopping bills as it 

sounds too much. 
(e) These days, everywhere I go, I see hoardings saying “Just 1411 left” 

 
Q 12. What is the correct order after rearrangement of the statements? 

A. abecd 
B. ebcad 
C. edbca 
D. cdaeb 
E. None of the above 

Answer: C 
 
Q 13. Which is the third sentence after rearrangement? 

A. a 
B. c 
C. e 
D. d 
E. b 

Answer: E 
 
Q 14. Which of the given phrases should replace the phrase printed in bold type to make the statement 
given below grammatically correct?  
Statement: Please ​take out your shoes and put out the light​. 

A. take off your shoes and switch off the light 
B. take out your shoes and put the light out 
C. take the shoes off and put out light 
D. put off your shoes and close light 
E. No correction required 

Answer: A 
 
Q 15. The question below has two blanks, each blank indicating that something has been omitted. 
Choose the set of words for each blank which best fits the meaning of the sentence as a whole. 

 

 



 
 
Statement: _______ by other singers and musicians, the singer sang his heart out and even ______ 
the young newcomers during their act. 

A. Accompanied, cheered 
B. Helped, applauded 
C. Assisted, greeted 
D. Encouraged, judged 
E. Stopped, smiled 

Answer: A 
 
Q 16. Read the sentence and find out whether there is any grammatical error in it. The error if any will 
be in one part of the sentence, the number of that part will be the answer. If there is no error, mark(5) 
as the answer. 
In spite freedom of the press is vital to democracy (1) / there is a thin line between reporting facts (2) / 
and expressing opinions as(3) / the line must not be crossed. (4) / No error (5) 

A. 1 
B. 2 
C. 3 
D. 4 
E. 5 

 Answer: A 
  
Q 17. The sum of the perimeter of a square and circumference of a circle is 256. The diameter of the 
circle is 28 cm. What is the sum of the area of the circle and area of the square? 

A. 2395 sq. cm 
B. 2380 sq. cm 
C. 3395 sq. cm 
D. Cannot Be determined 
E. None of the above 

Answer: B 
 
Directions (18-19): What will come in place of question mark (?) in the following questions? 
Q 18.    5 11 34 137 ? 

A. 685 
B. 785 
C. 585 
D. 686 
E. None of the above 

Answer: D 
 
Q 19.   2 6 14 30 ? 

A. 66 

 

 



 
 

B. 53 
C. 52 
D. 120 
E. 62 

Answer: E 
 
Q 20. Anup, Jatin and Rakesh run around a park. They complete their revolution around the park in 36 
seconds, 54 seconds and 45 seconds respectively. After how many seconds will they be together at the 
point where they started from? 

A. 650 seconds 
B. 540 seconds 
C. 245 seconds 
D. 655 seconds 
E. 540 seconds 

Answer: E 
 
Q 21. Find the approximate value of the given question  

500.01+2000÷40.001×49.99 
A. 3100 
B. 3300 
C. 3000 
D. 4300 
E. 3325 

Answer: C 
 
Q 22. Amardeep invested 20% more than Raj. Raj invested 10% less than Anil. If the total sum of their 
investment is ₹17,880, how much amount did Anil invest? 

A. ₹6000 
B. ₹4500 
C. ₹3400 
D. ₹6500 
E. None of the above 

Answer: A 
  
Q 23. Shweta and Simran started a business and Sneha joined after 4 months from the start of the 
business. The respective ratio between the investments of Shweta, Sneha and Simran is 3:7:4. If 
Sneha’s share in annual profit was ₹2000 more than that of Shweta. What was the total amount of profit 
earned? 

A. ₹11000 
B. ₹13000 
C. ₹13500 

 

 



 
 

D. ₹14000 
E. ₹16500 

Answer: D 
 
Directions (24-25): Study the given table and then answer the questions 
The table gives details regarding the number of visitors (in thousand) visiting an amusement park in a 
city in different months in the year 2019 
 

Months Number of Visitors Respective ratio of male and female visitors 

January 120 5:7 

February 55 4:7 

March 75 3:2 

April 126 3:4 

May 65 2:3 

 
Q 24. What is the number of female visitors who visited the amusement park in the month of March? 

A. 46 
B. 35 
C. 30 
D. 22 
E. 65 

Answer: C 
 
Q 25. What is the ratio of  female visitors who visited in the month of January to the male visitors in the 
month of May? 

A. 13:35 
B. 35:13 
C. 15:45 
D. 45:15 
E. None of the above 

Answer: B 

 

 


